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1| 66 | R 5.3 % (2) V(X)=90/10 =3 V(X)=90/10=9
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1| 70| 68D 217H V(X1) + E(X2) + -+ E(X,) V(X1) +V(Xa) + - + V(Xy)
1-2 | 70 | B> E» s 21TH ZIASME Bern(n,p) WS & & ZJESME Binom(n,p) IS & &
1| 99| F»5 117H E(X) V(X)
1| 100 | #EERE 7.1 X = (X1 + Xo+ -+ X10)/100 X = (X1 +Xo+ -+ X100)/100
1]109 | F25 51TH Xry X-Y
1| 122 | B 9.2 fElE BEXRERD X EEXEZ KD X
L) 131 | Bl 9.5 & O 0.07 x % 7.76 x % — [0.03, 2.72]| |0.07 x g 7.76 x g — [0.19, 20.73]
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1136 | k2o 1147H N(0.5,0.5/(1 — 0.5)/100) N(0.5,0.5(1 — 0.5)/100)
1] 138 | ™25 317H 20 > Za)2 20 > 2o
1] 138 | ™25 217H 20 < —Za)2 20 < —Za
1-2 | 152 | k25 147H Ay D By KRN BHER%E P(A;, B)) = | BYE A A, RN B 28 B e/l h
pij, A, B CHEhalekezhehn | 2 AEMHR P(A,B,) % p; £ &L, BIE
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1| 155 262 ?;;WW@J:# e <- matrix(NA, 2, 4) Fead & BBk
1| 167 | IR 11.2 AR Ho:on =00, Hy:o1+# 0 Ho:0? =02, Hi:o?# 03
1| 172 | E»5 5, 817H ARNZEEN FENZE)
11172 | E»5 84TH AR E) BEEZE)
1| 172 | X 12.11 BRNZEN Viy + BREZE) Vi HNZE Viy + BEEZE) Vi
1172 | 25 217H HRNZEEN FENZE
1| 173 12.1 AENZEE), ARREZEH) HENZEE), BEHZEH)
1| 174 | N L» 5 21TH ARNZEEN FHNZE)
1-3 | 182 | X 12.25 F= G Vs ~ F(IL=1,LM(n—1)) | F =g H0ts ~ F(L=1,LM(n - 1))
1-3 | 182 | # 12.26 F = gfiide ~ F(M = 1,LM(n = 1)) | F = 523400 0s « F(M — 1, LM (n — 1))
1-3 | 182 | R 12.27 Fo= WODOED « F(L - )M - | F = BEED0ED « P(L - 1)(M -
1), LM(n —1)) 1), LM(n —1))
1-3 | 182 | B %R F =& F =il




1-3 | 183 | ks 2 DHOMN F = ol = ol
1-3 | 183 | £ 5 3 DHOMA F =200l F =400l
1-3 | 184 | £12.2 0 147 4%1H el B e
1-3 | 184 | 12202474510 | 200 Ty ey
1-3 | 184 | #1220 3474510 | DOl wil ey
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1] 197 | F»e 1458 By = 0.4719 B1 = 0.4719
1-2 | 199 | T256 91TH HE (A B o Hr EAEN TS
12 | 207 | R14.17 O 1+exp(Bo + A1 X1s + BoXoi+ -+ BpXpi)) | 1+exp(Bo + B1Xni+ PoXai + - + BpXpi)
12 | 210 | 1421 p= % p= %
1-3 | 221 | k25 94TH m EDOBERUE y1, yo, . . ., Yy DTN E L | m EDONEF IR 22 WEEEE 1,2,...,m
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1-3 | 221 | ®15.1 P(Y; = y;) P(Y; = j)
1-3 | 221 | ks 1147H y; % v DR j R D%
1-3 | 221 | F» e 747H y; VBT B B J BT B B
1-3 | 221 | &5 64TH Yy DEHRFTE jDE DT X
1-3 | 221 | F»5 617H Yorbhs sk T jIZ&oT
1-3 | 221 | F»5 317H Y ot b5 aEIrrbsT JRhrbsT
1-3 | 223 | R LE» 5 117H m EOBERIE y1, o, . - ., Ym m B DNEFF I BRI WBEEUE 1,2, ..., m
1-3 | 223 | BB P(Y; =y;) P(Y; =)
1-2 | 222 | E»5 3 2HOKDGF | explac + Xic) exp(8X;c)
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FHED o 25.010 £.005 DFI%E LLRIZETIE

.010 .005

1 6.635 7.879
2 9.210 10.597
3 11.345 12.838
4 13.277 14.860
5 15.086 16.750
6 16.812 18.548
7 18.475 20.278
8 20.090 21.955
9 21.666 23.589
10 23.209 25.188
11 24.725 26.757
12 26.217 28.300
13 27.688 29.819
14 29.141 31.319
15 30.578 32.801
16 32.000 34.267
17 33.409 35.718
18 34.805 37.156
19 36.191 38.582
20 37.566 39.997
21 38.932 41.401
22 40.289 42.796
23 41.638 44.181
24 42.980 45.559
25 44.314 46.928
26 45.642 48.290
27 46.963 49.645
28 48.278 50.993
29 49.588 52.336
30 50.892 53.672
31 52.191 55.003
32 53.486 56.328
33 54.776 57.648
34 56.061 58.964
35 57.342 60.275
36 58.619 61.581
37 59.893 62.883
38 61.162 64.181
39 62.428 65.476
40 63.691 66.766
50 76.154 79.490
60 88.379 91.952
70 | 100.425 104.215
80 | 112.329 116.321
90 | 124.116  128.299
100 | 135.807 140.169
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